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She loves the ring in the shop.
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The lady from the U.S. loves spicy food.
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We are going to the market. £2|=
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In that case you should go see a doctor.
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She’s not interested in the news. 14+=
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I'm so sorry for keeping you waiting.
7|2 Al sHM L5 D]2tsi,

EH
=

==t
—

(o] |
=

5{ch!



% R PR R ELTIPVETE

e

4, M2|AL + 22 A

p FZAFCHO| CHTALS A1 A2 mj=
27‘=|()| 0|-L| EZ-I?=|° -|0|: %':

I'm fond of him. L}= 12 Z0}3).
He’s not into her. 1= & Z£0}5}&| 2o},
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1. Please, take care of he.
2. I'm sorry for be late.
3. He’s used to work late, but she isn’t.

4. Because of they, the team lost the
game.

5. My father depends on | so much.
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in @ room g 2t0]| / in the bank 23H0]|A{
in the hot tub [CtESH 22 ofof|

in the ocean BICH £0{|A

in the sky 5t=0ilA{ / in the air =0
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in the Korean peninsula StEF=0j|A
in the universe 230f|A
in the country A|Z0]|A
in the city 21 = A|0]|A
in Seoul A20{|A / in Europe S&0f|A

3. 95, &, AE 52| "|uA 71 A[ZH (~0f)
in 2002 in the 1980s in March
in spring in winter in the 20th century
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in the morning in the afternoon in the
evening

cf. at noon Z20]| / at night &t
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How could you finish the work in 3 days?
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We can’t get to the island in 5 hours.
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Who is the woman in the red dress?
Wt = A S U2 A oA}, F=tL?
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The boy in the baggy pants acts like he’s
a rapper. IﬂH7I =5 U2 A HAI0}0],
A2|71 Q] Zix{H HZ5t|.
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on the table E|0|=0] / on the floor H}EHO]|
on the surface =% 2/0f / on the wall #0j|
on the door &0 / on the board Z o

2. 95, 2 20| AE (~0l)
on Wednesday on Sundays on Labor Day

on weekends on March 12 on Sunday
afternoon
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The study on mutation should be
terminated immediately.
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I'm reading a book on prepositions.
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I'm on the bus. HAE El1 711 910§,

Are you on the subway? U, 2|5} E}11
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